Linear Risk

Nonlinear Risk

0.06

o
o
bk

o
o
=

Survival-Z; (Event)
o o
o o
N w

o
o
=

0.20

Survival-£; (Event)

0.00:

0.15

0.10

0.05;

Frank Copula

®

//:/4 0.20
/’,,/’/ (@)
) =
0.15 O
/,/ /, . 2
el / 3
A S
0.10 ~
/, ,’/ §|e
e * ©
/,. /’// 2
0.05 2
/, /* 3
/, ///, m

0.00

0.0 0.2 0.4 0.6 0.8
Kendall's T
/P
/ 10.035__
=
/ - —
ek / 0.030c
b i S

//, II\\\ 8
/. [0.0255
,// ,/‘ Sk (@)
X g =
0.020 7
w o 0.015®
7 2
o S
. | | 0.010 é

. o————eo— o 0.005

0.0 0.2 0.4 0.6 0.8

Kendall's T

o
o
w

Survival-Z; (Event)

0.01,

0.20;

Survival-£; (Event)

0.00;

o
o
o

o
o
w

O
o
N

0.15

Clayton Copula

/’/"
71020~
- ,/ (@)
/,.’ J =
/’/, /// B
/’/ /* (V)]
,, /,/ 0.15 2
,/ // GJ
/,, /,, 8
X 0.10&
L <
// /'// 2
Sox 0.05 2
// ,// 3
////// m
! . o g —$ 0.00
0.0 0.2 0.4 0.6 0.8
Kendall's T
L g
#= N
N /1004
/ X =
% A =
’ y N )
7 N, loo3 E
& & LI R
7 e O
& ,’, -
V e <
o 0.02 =
* 7 >
Pid >
¥ 1
A1 | 10.01 5
—o— — o —o
0.0 0.2 0.4 0.6 0.8
Kendall's T

Frank Copula

0.8
0.7
0.61

E 0.5

© 0.4
£0.3
0.2
0.1
0.0

0.2 0.4 0.6
True T

0.8

0.8;
0.7
0.6
© 0.5]
@
© 0.4
£
+ 0.3
0.21

0.1,

0.0/ @

0.2 0.4 0.6
True T

0.8

Clayton Copula

0.8
0.7/
0.6/ /Q’
T 0.5 ~
© 0.4/ = 3
0.3 .
0.2 .
0.1 7
0.0/ ®

0.0 0.2 0.4 0.6

0.8

0.8

0.7

0.6
5 0.5 #*
© 0.4 /{
+ 0.3 -’

0.2 &

0.1 7

0.0/ @

0.0 0.2 0.4 0.6
True T

0.8




